Parts Lists with Exploded Views RANGEs & RANGETOPS Loy LF

30” Range Door and Riser Parts List

Ref# Part# Description

787622 Strip, Filler (Island Trim)

714589 Ring, Retaining

719287 Pin, Door Hinge

802808 Hinge, Door Stiffener Support Assy Lh

*Special Order, Call Factory Parts Department

Door, Oven Assy, 30"

766488 Panel, Back 30" Range

730228 Screw, #10-24 x V5"

769576 Liner, Door Assy 30”

802809 Liner, Door Assy 30” (See SN Breaks)

9 720814 Window, Oven Door Lg.

10 723296 Clip, Oven Glass Retainer

11 722328 Glass, Oven Door

12 800635 30" Door Insulation

13 766374 Hinge, Door Stiffener Support Assy Rh
802807 Hinge, Door Stiffener Support Assy Rh

14 800635 30" Door Insulation

15 730141 Screw, 4-20” x %"

16 730308 Washer, Lock V4

17 787592 Channel Door Spacer

18 730239 Screw, #8 x 3/8”

19 769565 Skin, Door SS, 30” (See SN Breaks)
800983 Skin, Door SS, 30” (See SN Breaks)
769564 Skin, Door Black, 30” Range

20 719628 Bracket, Belly Bar RH

21 719627 Bracket, Belly Bar LH

22 720770 Handle, Oven Door, 30" Range

23 800925 Logo, Wolf, Large

24 730509 Clip, Tinnerman

25 730335 Washer, Lock #10

26 730028 Screw, #10-24 x 17

27 722424 Trim, J Oven Window Lg.

28 803863 Spacer, Door 30” Range

ONO GahRhWN-=-

Door and door components prior to serial number 17000000. See page 4 & 5 for door
and door components starting with serial number 17000000.

Not Shown

806659 Riser 5-R30
800015 Riser 10-R30
800019 Riser 20-R30



	Previous1: 
	main: 
	manual menu: 
	next page: 
	29: 
	30: 
	31: 


